REUBREEZEEHEICRIRMHBENER

CHERIRE)
EXKERNEENE
BEYDOIENKEE(s) BEHNE (M)
FEE=E 54,000
500m LATF 128,000
500m #  1,000m LLTF 200,000
" 1,000m 2 2,500m ELF 420,000
A 2,500m #  5000m KT 750,000
% 5000m #  10,000m LT 1,300,000
# 10,000m #  20,000m KT 2,440,000
20,000m #  30,000m LLF | 3,530,000
30,000m #2 4,370,000
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FEIEF=E 54,000

5F LIF 54000 + 18000 X ( p - 1)

5F i 10F LT 128000 + 14000 x ( p - 5)

- 107 # 258 U 200,000 + 14000 x ( p - 10)

% 25F & 50F LT 420,000 + 13000 X ( p - 25)

% 507 #2 100 LT 750000 + 11,000 X ( p - 50)

N 1007 #2 200F LAF | 1300000 + 11,000 X ( p - 100)

200F 2 300F LIF | 2440000 + 10000 X ( p - 200)

300F #2 3,530,000 + 8000 x ( p - 300)
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